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Attempt all questlons

Whlch of the: followmg is Incorrectin context of wage indexatiol

a. Higher the proportlon of wage contracts that are :ndexed the Iarger the effect the
e unemployment rate has on the change in mflatlon S
by _Wlthout wage | mdexanon lower unemployment increases wages wh|ch in turn,
increases prices. But wages do not respond to prices right away, there is no further
increase in prices.
c. When most labour contracts allow for wage indexation smaIE changes in
unemployment leads to very small changes in inflation.
~ d. With wage indexation an increase in prices leads to a further increase in wages
- within the year. :
2. The liquidity trap {zerc nominal lnterest rate)is unlikely to be a serious problem when:
a.--The-rate of inflation, actual and expected, is negative.
b.. . The rate of infiation, actual and expected is positive.
. Given the nominal interest rate, higher expected defiation leads to an increase in
.- the real interest rate.
d. When output is below the natural level of output, the rate of deflation, actual and
expected is likely to increase,
3. Which of the following explain the fisher effect?
oA '!n‘sho'rt'-run the faster increase in nominal money will not be matched by an equal
increase in the price level. -
b. Inmedium run the nominal interest rate lncreases one for one with mflat:on
In the short-run the hlgher rate of nominal money growth will lead to an increase in
... the real money stock. :
d. Inmedium run the nommai mterest rate decreases one for one with inflation.
4 Which of the followmg statements are incorrect with regards to balanced growth
path(steady state) .
a. When the economy is in steady state output per worker grows at the rate of : -

technological progress

..b.__Capital per effective worker and output per effective worker are constant.
Capital per worker and output per warker are growing at the constant rate,
Capital and output grow at a rate equal to the sum of population growth and the
rate of technological progress - ‘



‘In short run, the real interest rate and the nomma] mterest rate both go down. Why don’t

5:
__ they stay down forever?
Arrange the foIIowmg accordlng 0 thelr occurrence
{1) Realinterest rate is below the natural reai mterest rate- unemployment is below the
- natural rate of unemployment -
(2) Real money growth turns negatwe, the nommal mterest rate starts increasing and so
does the real interest rate. EREE N
(3) Realinterestrateis below the natural real interest rate- output is hlgher than the
" "natural level of output. o T
... (4}. Inflation starts increasing and eventually becomes higher than nominal money growth.
o a (1)RE)
b. (3)(1)(4)(2) .
- {2)(4)(2)3)- -
e ;.;.;(3)(4)(1)(2\
"""" 6., How much Rs.100 next year worth this year? Gwen the 12% nominal interest rate.
7. Define ‘sacrifice ratio’. :
. Sedion B — e (4x4=16 Marks)

Attempt any four questions

11.'

1. Whatis Solow Residual? S - . :
. 2,: Suppose you have the choice between holding one year bonds or two year bonds. Assuming
that you and other financial investors care only about expected returns. Explain arbitrage
.. relation given above situation.. . - . : '
3. What do you mean by yield tomaturity?. The 2 -year interest rate is apprommate(y the
. average of the current 1-year interest rate and the next year expected 1-year interest rate.
- Explain; - U N
4. Dlsmf!atron can he achleved qmckly at the cost of hlgh unemployment fora few years.
e Explain? : et :
5. What do you mean by steady state of the economy?
S Section - C .. . o SR R (4x5=20Marks)

Attempt any four questlons

Shouldn tazero nomlnal interest rate be enough to strongly stlmulate spendmg and avoid a

~ recession? Explam with regards to nominal and real interest rate.
2. What is non-accelerating inflation rate of unemp!oyment? ”
3. Suppose that the central bank increases the rate of money growth permanently. What will
happen to output and nominal and real interest rates in the medium run?
4. Inan economy m which there is both capital accumulation and technological progress at
what rate will output grow? Explain. ‘ e
5. How do output and unemployment respond to mcreases in productl\nty in short run? In
shart run, increases in productlwty sometimes decreases unemployment and sometimes
.7 . increases it. Explain.- Gt
6. Explain the concept of wage indexation;



